Lior Silberman’s Math 100 12

6. APPLICATIONS OF THE CHAIN RULE
(11/10/2023)

Goals.
(1) Implicit differentiation
(2) Inverse trig functions
(3) Related rates
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Math 100A — WORKSHEET 6
APPLICATIONS OF THE CHAIN RULE

1. REVIEW

(1) Differentiate
(a) * eVeos®

(2) (Final, 2014) % Let y = z'°8%. Find 3_3; in terms of z
only.
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(5) (Final 2012) Find the slope of the line tangent to the
curve y + x cosy = cos z at the point (0, 1).

(6) Find ¢” (in terms of z,y) along the curve x° + y° =
10 (ignore points where y = 0).
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3. INVERSE TRIG FUNCTIONS
(7) Draw on the following axes graphs of sin 8 on [—g, %] :
cosf on |0, 7] and tan 8 on (—%, g), then of their in-
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(8) Evaluation

(a) (Final 2014) Evaluate arcsin (—5) and arcsin (sm (3111” ))
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(5) (Final 2012) Find the slope of the line tangent to the
curve y + x cosy = cosz at the point (0, 1).
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(6) Find 3" (in terms of z,y) along the curve z° 4+ y° =
10 (ignore points Where y =0).
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